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Part - 111
' SOCIOLOGY

Maximum : 80 Scores

’I‘imé : 216 Hours
Cool off time : 15 Minutes

/ General Instructwns to Candidates :

™

There is a "Cool off txme of 15 minutes in addition to the Wrxtmg time of 2% hrs. _

You are not allowed to write your answers nor to d.13cuss anything with others

during the 'cool off time'.

Use the 'cool oﬂ‘ time' to get familiar with questions and to plan your answers,
Read questions carefully before answering.

All questions are compulsory and only internal choice is allowed

When you select a question, all the sub—questlons must be answered from the

same question itself. .
Calc‘;ulatlons figures and graphs should be shown in the answer sheet itself.-
Ma]aya.lam version of the questmns is also provided.
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Godlee Cherian’s family is a
father-dominated family. What

* you call this type of family ?

a) Matriarchal family

b) Joint family -

¢) Extended family |

d) Patriarchal family =

‘Huge system of production,
industrialisation, urbanisation,
migration and mobility have
weakened the structure of little
community.’ Discuss.

Classify the following under
‘institution’ and ‘association’.
religion, sports club, joint
family, school, state, bus
passengers, trade union, blind
students. :

'The process of diffusion is

- related with :

a) Banks.

b) Associations

- ¢) Cultures

-~ d) Schools_.

- In a debate your group has to

argue for monogamy and its

- advantages. Prepare four

K-21

advantages of monogamy.

You are directed to prepare a
paper on ‘Suicides in Kerala’,
Point out four reasons for the
increasing rate of suicides in

Kerala, Explain them.,

(1)

8)

(2)

ey

(2)

(4)

3.

5.
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7.  ‘Family is the basic institution
of the all institutions in society’.

Analyse this statement, with its .

importance as a universal

institution.

(Hints:

-1. Definition of family,

2. Functions of family,

3. Influence of family on
personality).

- 8. Inavillage, a higher caste man
" married a lower caste woman.
- What kind of marriage is this ?

a) Endogamy
b) Polygamy
¢) Anuloma
d) Pratiloma

9. In adebate, Priyanka argued
‘ that our informal agencies of
" social control in India are
weakening. Do you agree with |
her ? Substantiate your views
briefly.
{Hints:
~ 1. Agencies of social control,
2. Weakening or strengthening
of control).

10. -Which one is not _related with

conflict 7
‘a) Consciqus process

b). Universal process

¢) Intermittent process

d) Accommodating process
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11. Write in chronological order :
a) Capitalism
b) Slavery
¢) Communism _
d) Primitive communism
e) Feudalism

12, Inthe matrimonial columns
(advertisement for bride or
bride-grooms) in Malayalam
newspapers, caste and religion
based enquiries are increasing.
How do you evaluate this

- change in the process of

-marriage ?

- (Hints:

1. Endogamy and Exogamy,
2. Changes in the marriage,
3. Reasons for endogamous

marriage).

Make suitable pairs by relatmg
with ;-

i) Ascribed status
“ii) Achieved status

a) Akbar, the Emperor
b} Mammootty, the actor
¢) Elizabeth, the Queen
~d) M. T. Vasudevan Nair, the
writer :

Ajmal said, “When you look at
the subject matter, sociology is
the oldest science”.-Anoori

argued, “No. sociology seriously
emerged in the last phase of the

19th century.” Associate these
‘two statements and examine
what is sociology and its origin

and development.

(Hints : -

1. Definition of sociology,

2. History of sociology,

3. Relationship W1th other

sc1ences)
OR

13.

14.
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‘Social behaviours is controlled
effectively by religion. Social

_ control is made possible through
governmental agencies in
modern society.” Examine these
two statements. Explain the
importance of informal and
formal agenéies in social control.

(Hints:
1. What is social control ?,

9. Aims of social control,
3. Means of social control).

15. Why is Durkheim is considered
to be one of the founders of
modern sociology ? Explain the
contributions of Durkheim
towards the development of

sociology.

Which one is not an affinal
kinship 7

16.

" a) Son—in—law.
"b) Husband
¢) Mother

d) Wife

17. Which form of marriage

predominates today ?
a) Hypogamy

b} Polygamy

¢} Hypergamy

d) Monogamy
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. 27.r

“The process of croating a single
unit by joining different parts is

. integration’. Analyse.

What are the differences between
participant observation and non-
participant observation ?

You are directed to do a social
research study on a relevant
topic. What steps will you
follow ? Explain. '

,Examine the influence of

sanskritisation and
westernisation in the mstltutxon
of the caste system

(2)

- (8)

@

Which branch is suitable to get |

a job as a community
development officer ?

a) Legal sociology -

b) Cfiminal_ sociology

c) Industrial sociology :
d) Rural sociology .

‘Family is the most powerful

‘primary group’. Explain.

(1)
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